0, 125, 250, 375, 500, 625, 750, 875, 1000

. - — Whi Ly =L/L
L*tusLoG = tlog(L / Ly) 5 Grey steps: Black N — mean Grey U — White W L:LNJ i LE

adjacent Ei _— v adjacent Low =L /Ly
samples TuBLoG = t1og(Y /YN)  samples Lpp=L/Lp
=tlog(Y / Yy) + 50 ‘

3 Grey steps: Black N — White W

= tlog(Y / Yyy) + 100 NO4w NO8w Ni2w w N =Black
U = Grey

separate t=50/log(5) = 71,5338 separate . W = White

samples Yn =4,Yy =20 samples P = Peak White
L*TuBLOG Yw =100, ¥p =500 L*TuBLOG r = relative

geal0-7n_R, Test samples: 13x3 and 1x5 colour steps, exp0=1, expg=1, inw=1, xchart=0




